
Errata do listy zada« z Programowania Funkcyjnego 2022/23

str. wersy zad. jest winno by¢

1 8-10 � f : X → Y , g : A→ B f1 : X → Y , f2 : A→ B
1 14 1.1 β ◦ g β ◦ f
1 15 1.2 oraz β oraz β ◦ g
1 30 4 f : C → D f : A×B → C
2 1 5 (A×B × C A×B × C
2 23 9 f(fy)) f(fy)
2 24 9 g \circ g g ◦ g(x)
2 32 10 Upro±¢ funkcj¦ h �

3 4 12 s = s+ i ∗ i s = s+ i ∗ i;
3 12 � Haskell'a Haskella

3 14 15 2 ∧ (2 ∧ 3) 2 ∧ (3 ∧ 2)
4 5 � przzetestuje przetestuje

4 17-18 31 pocz¡tkowych ko«cowych

4 20 32 liste list¦

4 28 36 ilo±¢ liczb¦
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